7. Convert each fraction to a decimal:
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1. Express each fraction as a decimal: b 7 d 1 11
- Bxp : ) 1 @ 3 ® 3
21 129 9
() 100 @ 100 (€) 20 8. Convert to a fraction:
(b) 53 (@) % (f) _;_gg (a) 50% {c} 5%
1000 {b) 86% (d) 331%
D i i ixed I:
2. Express as an improper fraction or mixed numera 0. Comvert 1o o decimal:
- ' d) 4-0309 .
(o) 067 @ (a) 7% (c) 25%
. e} 0-35
(®) 0051 o (b} 7% {d) 124%
(c} 923 (i) 25
. 10. Comnvert to a percentage:
3. Evaluate:
(a) 0-05 1
(a) 146-95 + 8487 + 92664 ) 250 (© g
3-56
(b} 3-861 -+ 512.99 4 73.065 @ g
(c) 6374 — 2856 . 7
(d) 458-7—96.08 . 1. (a) What percentage of 60 is 407
(e) 843 — 465-72 1

(b) Express 150 g as a percentage of 5 ke.

4. Evaluate:
valua . (e} 1750 mm is what percenatge of 2 m?
(a} 0-3x4 (d) 0-06 x 0-7 (d) A mark of 37 out of 45 represents what mark as a percentage?
(b) 0-12% 7 7 (e) 0-12x 05 (e} Express $1.40 as a percentage of &f $1.25.
c) 9 x1-08 (f) 0:34 x 57
( ) 12. Find:
5. Evaluate: () -12% of $1.20 (¢) 12:5% of $180
{a) 12+3 (d) 96805 {b) 70% of 1 kg 1,
i d) =% of 1 million.
(b) 63+9 : (e) 70762 04663 @ g O - o
(c) 0706 + 03 (£) 180781040008 13. (a) If 5% of an amount is 240, find the full amount.
6. Round off each decimal, correct to 2 decimal places: {b) If 10% of an amount is 7-5, find the full amount.
r
(a) 0-329 .
(b) 1-694 DecimalsAndPercentagesTopicTestB  2/8/11 BR 8GS JUI}’ 2011
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(d) 25-398
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